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General Instructions:

1. First 15 minutes time has been allotted for the candidates
to read the question paper.
2. The question paper is divided into two parts. Part-A
and Part-B. Part-Aand Part-B are divided into three sub-
divisions a, b and c.
3. In Part-A of the question paper, there are Multiple choice
questions in which correct alternative is to be selected and

then by a blue or black ball point pen, the correct



alternative is to be filled completely in the circles in

OMR sheet.

4. Part-B has descriptive questions. All the questions of
each sub- vidision of Part-B are to be attempted all at a
time. Start each sub division from a new page.

Part-A (Sub Section-1)

Multiple Choice Type Questions:

1. Which of the following is a vector quantity. 1
(a) Time
(b) Length
(c) Distance
(d) Displacement

2. A particle is moving in a circular path of radius r. The
displacement after half the circle will be: 1
(a) O
(b) mr
(c) 2r
(d) 2m

3. The first law of motion is called: 1

(a) Law of gravity



(b) Law of Reflection

(c) Law of Action-Reaction

(d) Law of Inertia

. The S.I. unit of force is: 1
(a) Pascal

(b) Joule

(c) Newton

(d) Dyne

. What will be the acceleration produced by applying a
force of 15 Newton on an object of mass 5 kg.? 1
(a) 3m/Sec?

(b) 5m/Sec?

(c) 10m/Sec?

(d) 15m/Sec?

. Velocity can be: 1
(a) Zero

(b) Positive

(c) Negative

(d) All of these

. The rate of change of velocity is called: 1
(a) Speed



(b) Velocity
(c) Acceleration

(d) Momentum

(o em-9) (2)
GUe-37 (TEAhedld UH) ITANT-2
A
8. I T ©-
(a) FET I

(b) STH TS
(c) 3 AR
(d) 3 FET SR 3RS
9. ST & FYAIH 100° AU, § 1 I8 hica H foha=T FTI-
(a) 274K
(b) 373K
(c) 473K
(d) 173K
10. =1 3R ST o [qa@q § =1 0 -
ORENIRET
(b) fem
(c) Toe™=




(&)

(d) 37 9 FIg &l
11. e =l &- 1
(a) GqH
(b) TErqH
(c) Torwmim
(d) gt
12, JIRe ST | TrEgoH 3R SRS o SAHI 6l 3T ©- 1
(a) 1:8
(b) 2:5
(c) 1:7
(d) 1:2
13. 30X AYEA JHI 3T TR UUE TRATSE hiHEe! ol HieH €9 &- 1
(a) IPUAC
(b) [IUPAC
(c) TUPAI
(d) [IUOPAC
Section-A: SUB-SECTION-II (Multiple Type Questions)
CHEMISTRY
8. Dry Ice is: 1

(a) Dry Ice
(b) Frozen Oxygen



(c) Solid Nitrogen
(d) Solid Carbon Di-oxide
9. The boiling point of water is 100°C what happen in
Kelvin. 1
(a) 273K
(b) 373K
(c) 473K
(d) 173K
10. What is sugar in sugar and water solution: 1
(a) Solvent
(b) Solute
(c) Solution
(d) None of these
11. Suspension is: 1
(a) Homogeneous
(b) Heterogeneous
(c) Saturated
(d) Unsaturated
12. Mass ratio of Hydrogen and Oxygen in compound water
is:

(a) 1:8



(b) 2:5
(c) 1:7
(d) 1:2
13. Short form of International Union of pure and applied
chemistry is: 1
(a) IPUAC
(b) IUPAC
(c) IUPAI
(d) IUOPAC
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SECTION-III (BIOLOGY)
14. In which only a prokaryotic cell organelles are -
(a) Mitochandria
(b) Ribosome
(c) Plastid
(d) Lysosome

15. What is the name of green substance present in leaf. 1
(a) Green pigment
(b) Green granules
(c) Chlorophyll
(d) None of these
16. Chromosomes are made up of: 1
(a) DNA
(b) Protein
(c) DNA and Protein
(d) RNA



17. CO2 and O? passes through plasma membrane by the
process of: 1
(a) filteration (b) Diffusion

(c) Calcination (d) Displacement

18. Nurnber of chromosomes in normal human are: 1
(a) 46 (b) 45
(c) 50 (d) 36

19. An Example of sclerenchymatous tissue is: 1

(a) Coconut (b) Banana
(c) Apple (d) Mango
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20. Xylem and Phloem are:
(a) Vascular tissue
(b) Antibody
(c) Excretor
(d) Muscular tissue
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Part-B (Sub Section-1)
Descriptive Questions:
21. Define the distance and displacement and differentiate
between them.
22.What is Newton's Third law of motion. What is the reason
why the gun jerks backward when fired. (2+2)
23.A Bus starting from rest moves with a uniform

acceleration of 0.1 m/sec.2 for 2 minutes. Find: (2+2)



(i) The Speed Acquired
(i1) The Distance Travelled
24.(1) Name the instrument used to measure the speed of a
vehicle. (2+2+2)
(i) Write the formula of all three equations of motion.
(ii1) What is distance time graph? Describe it with a figure.
OR
What is momentum? Write its SI Unit.
A stone of mass 2 kg. is rolling with a velocity of
15m/sec. What will be the momentum of the stonen.
(3+3)
Que-q (JUHIESD TH) ITAN-2
A fo=m
25.%. Y TRl Fhed &- (1+1+1+1=4)
g, T Rl 8?
T, 5 gard o e €
o, QITSH, EBIERRE TAT FhITHIH T Tdleh 12 |
26.%h. FYATH FIT Bl 87 (2+2=4)
. U] U YA § & 3 e
27.7. 9T qAT YT o G TN i ifeee 7. feor fray 7R & g
&2 U i | (3+3=6)




A4l
TR UTd o EH &l Teh ISTEL0T ol T iU |
SECTION-B (Sub Section-1l) Descriptive type questions)

25.(1) What is Substance? (1)
(i1)) What is melting? (1)
(ii1)) What is pure substance (1)
(iv) Write symbol of sodium, phosphorous and

chromium. (1)

26.(1) What is boiling point? (1)

(i1) Write two difference between molecule and atom.
27.(1) Write three properties of metal and non-metal. (3+3)
(i1) How many types of mixture. Explain.

OR

Write law of constant proportion with an example.
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Sub-Section-III (Biology)
28.(a) Write full form of D.N.A.

(b) Write two example of Unicellular organisms.

(c) Give two example of complex tissues.

(d) Where are epithelial tissue are found? Write it.
29.(a) Write the function of golgibody.

(b) Give difference between Grana and Stroma.
30.Write short note on the following:

(1) Plastids (b) Endoplasmicreticulum
31. What are tissues? Write the name of tissues found in

Plants.

OR

Describe nucleus with diagram.



